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CFD-Fluent f&#¢ 5 E# AT a8

Temperature
Contour 1

96.998
90.765
84.533
78.300
72.068
| 65.835
59,603
53.370
47.138
| 40.905
| 34,673
28.440
22.208
15.975
9.743

0 0.050 0.100 (m)
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Temperature Temperature
Contgng Contop.ljm
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84.510 1 84510
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72.076 [ 72.076
- 65.859 - 65.859
59.642 59.642
53.425 1 1 53.425
47.208 I 47.208
 40.991 ' 40.991
34.775 34.775
28.558 28.558
22.341 22.341
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9.907 9.907
[C] [C]

L L

0 0.050 0.100 (m) 0 0.050 0.100 (m)

—
0.025 0.075 0.025 0.075



i
X

CFD-Fluent 152t S H

CR= e

50.374 50.910

49.826 50.617

49.277 50.324

48729 50.031

' 48.181 49738

47.632 49.445

47.084 ] 49.153 il ]
46.536 P = ' —————— 48.860 =
45.439 E 48.274

44.891 ‘ R — 47.981

44.343 = — — 47.688 |
43.794 = = = J 47.395

43.246 = - = — \ 47.102 \
42.698 - — = = 46.809 !

[C] — = - @
A
0 0.050 0.100 (m) I_.‘ 0 0.050 0.100 (m)
— —  — —
0.025 0.075 0.025 0.075



Velocit
Streamline 1

F 0.165

0.124
| 0083
0.041

0.000
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Velocit
Streamline 1
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[m s?-1]



;Eﬁ E’:t |J

| ﬂﬁ*&miggﬁﬂhﬂﬁkﬁ

INA226 p—d |
10/16/25;(;::5:1:; PM
kBN
000
MAX6675

—

Aibhnt
HEANE R R R R OR B R AR A A &

ADS1115 SEm

/ ..;I;!’hu.‘z 'Av
/ LEL D) AENN Wh“:‘;;:ﬁ““ Axan nwnE
~ | | - -
e M)

o
Mll RS IS R




32 lm 25 4 J
B2 EXTE

R REZREBENE ﬂ“‘E"} Eill R4

n;n!‘m

A ; '-..g._ 1
" ELL ﬂﬂllﬁki! BENER 2%

10/1 1/2020 1:53:14 AM

EIKEE N RIKES EHIKRE RIGRE BEINR

SAAAA

0.57 kg/em? 1.58 kg/cm® 86.36 °C 28.76 °C 45406 W






/ BR[| GH &

RILFKHE RLEE TREERAME

B H B A . (AxB)
MR B A TR #H 12 2.5 30
MEBREHEA KRR #H 24 2.5 60
MEBREBHEAHAIINER 1@l 192 0.45 86.4
EREER AR #H 1 10 10
ENrkJT
=] 5t 186.4

0.346kW*24hr*365 % *6.171=18704.054 ~/ #
(B & FHAEY F o P 20 10£6.1710/ ~ 1£10+£3.5685/ & ~ ¥ % 20+# £5.1956/% )

» 186400/18704.054 =9.974 -



2B AR A
1 T?‘(glﬁé&‘%ﬁ AR




1RAEEB T

5 &

)

24/\H§ TR alE el UN
ESPN g T4 (AT U






Zl“'l/\
wiN

AR T -

EI’J:REQ £
/7 < KAEE
> 181
:ﬂﬁ Al

=

NZI
/Jm)(

SLEERD -

o2 74 P A UG 8 5 B 20 & R

MR aRFEEZSF

7N

H

DEK;@E/]7

M\%Fﬁ?l FiLtEHE
A7 ﬂZTuiiJ[/wK
saﬁzﬂ

|:|/E_'; ]

E/J/_L/

_E%Ti?ﬁﬂ%%

= LY

RRE

5‘E5['l'l—

VARNY

Ho=/1
ZIKAX ’

YA NN =4

183 /=2

JRAY

EE 15240

AN
1P
11t

L1

25






Zl“'l/\
wiN

AR T -

EI’J:REQ £
/7 < KAEE
> 181
:ﬂﬁ Al

=

NZI
/Jm)(

SLEERD -

o2 74 P A UG 8 5 B 20 & R

MR aRFEEZSF

7N

H

DEK;@E/]7

M\%Fﬁ?l FiLtEHE
A7 ﬂZTuiiJ[/wK
saﬁzﬂ

|:|/E_'; ]

E/J/_L/

_E%Ti?ﬁﬂ%%

= LY

RRE

5‘E5['l'l—

VARNY

Ho=/1
ZIKAX ’

YA NN =4

183 /=2

JRAY

EE 15240

AN
1P
11t

L1

27



/\rx HILE
— 0 )
O



